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, : Scheme Suly
Number Solutlon and Mavldug Sel My,
l q=p-l 'l
(p=2)+ 0" 5 Il
pE=3p=10m0
(P=5)(p+2)=0 q
p=5 P = =2 NI
qQ = 4, q = =3 NI
2 ()
l
m, = 3 and my = =7 Ki
3(D*=p(1) = =7 Kl
p=10 NI
(b)
2 e
"y
m = 6x—10 Kl
d?y d?y 10 .
— _— = - " — —_— - = Kl
72 =60)=10=-10 or 72=6(7)=10=10
Maximum, x = 0 NI
3 279 = 339
2l 3 K1
log,(12q — 2p)
=1 K1
log, 4
y ( 36 ) )
92 12q - 2p B K1
p=-=3q or 12q-2p=9 K1
12 - 2(-3q) =9 K1
a=- and p=-=2

Scanned by CamScanner



M HIUNAL MATHEMATICS [P2]
TRIAL SPM 2019
ZNumber .
j Solution ang Marking Scheme Sub Full
:[/4 @ Marks | Marks
sin 2x
cos2x Kl
tan2x N1
(b)
)
shape
Pl
cycle
Pl
shifted
> x
bx
— N1
y 37 o 1,
Straight line Kl
Number of solutions = 2 N1 8
5 (a) AE =>(AD +DC) or CB=CA+AB Kl
() AE=2y+2x NI
(ii) CB = 2x — 3y Nl
(b)
Area of triangle ACF = 2(12)
= 24 Ni
%(h)(lZ) = 36 or equivalent Kl
Shortest distance,h = 6 N1 5
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. & o) . mc
Solution and Marking Sche

(a)

Range for boys = 5227  or Range for girls =47 — 32

1l

-2 (both)
Yes, the range of boys’ times is greater than the range of girls’ times NI
(b)
fo = 10 597 K
Y fx?*=418 459 2
2 418459 /10597\°
T 276 _( 276 ) Kl
=41.99 A1 ,
Refer to graph paper 1t
(a)
(1)
4 40
(1)
B(-3,0
( X ) o
A= 21=4(4) +3(0) + (-3) — [8(3) + 4(=3) + 0(—4)]| .
= 26 unft* .
(b)
——=-30r ——= 5
342 342
D(-12,-6) -
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Number Solution and Marking Scheme
V65
JG— o+ - DA =65
x2+y2+16x-—2y=0
OR
y = (=6) ) ( y—8 )
(x — (—12) x—(—4) Pl
(y—(—6))( y—8 )=_1 K1
x —(—12)/ \x— (—4)
x2+y2+16x—2y =0 NI 10
9
Diameter = /x? + 62 K1
N
Radius of the pool = —J—C—E— NI
Vx2 436
2 —5—] = 107 1
X = 8 N1
(1)
L Kl
135 % 180° 4"
i} Kl
Area of sector A = —( (5)) ( )
; N1
=13.0
(i)
2 3 K1
30 (37)
2(5) (2 - 2 K1
25)(3n)+8+6+6+ (8 —5(5)) +2(5)
35.855 N1 10

Scanned by CamScanner



e

Number

Solution and Marking Scheme

I

10

11

(a) (i) ®C4(0.4)6(0.6)?

0.04129

(ii) 4/30(0.4)(0.6)

2.683

400-300

b O z2="5

1—P(z>2)
0.9772

(i) z = —0.38
h=3% = —-0.38

50

h= 281

(a)

- 1)(12y +717) =0

y=ELY= "3
Q(5,1)
(b) = &)
Area = f3y2+2dy OR Area'k("‘
3
N
[ +2y} . (’”’) L
3
2
3+2y

=[13+2]-0

— ] 2
— 3unit? =

Sub I'ull
Marks\ Marks \

Kl

NI

Kl

Nl

K1

Kl

Nl

Pl

Kl
N1 10

= 5(1)- &(’) x2-|(5) “
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(c)
5 gx 2
T de=J i
j;}’ 2 3 de Kl
w2
m(1)%(5) or m [(J——— 2(5)) - (2_2. - —-—2(2))] Kl
6 3 6 3
52  2(5) 22 2(2)
m(1)%(5) — e e | s o it
()()n(6 3)(6 3)] Kl
7
E‘IT NI 10
12 (a)
RM13.50
——x 100 =116 Kl
Py
P, = RM11.64 N1
® 25(1
180(5) + 116(4) + p(2) + 125( ) _ ik —
54+4+2+1
p= 131.5 N1
(© 51
see lp =198 or s = 110.2
_198(5) + 110.2(4) + 131.5(2) + 125(1) Kl
ST 5+4+2+1
=151.57 NI
(d)
Piq
M8 x 100 = 151.57 Kl
P19 = RM27.28 N1
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ADDITIONAL MATHEMATIC, Y

Sub
Number Solution and Marking Scheme @M
13 (a)(i) 8.32 = 5.12 4+ 11.92 — 2(5.1)(11.9) kosASQR Kl
ASQR = 35.57° NI
y 3 . P
(ii) £PQS = 79.43
PS 119 Kl
5in79.43°  sin65°
PS5 =1291cm Hi
(iii) 3 (5.1)(11.9)sin3557°  or  (119)(12.91)5in3557°| g,
~(51D(A1.9)sin3557° + =(11.9)(12.91)sin35.57° .
2
62.33 cm N1
(b)() R’
QJ
N1
Sl
(i) 4SQ'R = 144.43° N1
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ADDITIONAL MATHEMATICS [P2]

TRIAL SPM 2019
. : Sub | Full
SOlutlon and Markmg Scheme M:rks \ M:rks
4ol O3 NI
(i{3t—-6<0 Kl
0st<?2 N1
(b) s = =~ 6t Kl
— 3(2)?
= o e il ) or s =—6m Kl
Particle P does not reach point Y. Nl
(c)
s
A
L i
oN 2 /i 6 !
-6 =t
Shape of graph ~ or (6, 18) and (2, -6) N1
All correct NI
Total distance = 2|6| + 18 K1
=30 N1 10
15 Refer to graph paper 1
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Kl
N1
Kl

1 #7 Pl

[
-

gradient

0.10
2.478

= Y — intercept

|

HH

25

1=

k
AR
H

0.2
|

axes, uniform scale and

one point correctly plotted
5.30
g

0.33

All points correctly plotted

Correctl

Line of best fit
X

(i) Use lo

|
()

| (i) Use —logg p

i (C) logln'\': lﬂg”] :”ﬁ - X lo
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K1
K1
N1
N1
N1
K1
N1
|

I
Rl
it
m\\ﬁ\

i\.

i

|

_— ——

I
|
i
x2y+10
2x+3y > 60
2x + 3y <120
3 (30) + 10 (20)
RM290

Draw 1 line correctly
Draw all lines correctly
Correct shaded region
Total maximum sales

|

_{

(a)

1 ®
©

|

i

1

IT

f
|
A1

AR

1 H () Minimum value of x

18
i (i) ( 30, 20)

|
|

|

1

d qllhi
B
14

|
l’_

|

i

1
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